20238 A% A Q) o AHE A A
of| A2 2 of At (29 d4)
T darey | ¥ oH RENE AE )2 (R)
o | 3 = il | S
Hegsxdeasd 641,655 378,922 262,733
TEI BRI A daae] 465,600 300,282| 165,318
A AF 398,400| 241,482| 156,918
(Eih) Fobsn] A= 280,000 80 *12¢€= 268,800,000
(;"Oﬂm AR s Al 135,000 #8078 *129= 129,600,000
WA A 67,200 58,800 8,400
(Ealah) w5378 Ade 70,0009 %80 *12¥= 67,200,000
WG TIREZTTY 19,200 0| 19,200
WEHR2F(LH534) 19,200 0| 19,200
(o ih) BT R GAE 800,000 x2*12¢€=" 19,200,000
AAH B 2ZFFS] 28,824| 19,200 9,624
AEHRZF(A7AN]) 28,824| 19,200 9,624
(e ih) W& g 17,0000 %3792 = 4,692,000
(o) FgAQ00 7140 24T 2,011,000 «18+129= 24,132,000
Ao w2 F4Y 128,031  59,440| 68,591
AEHRFZF (L) 128,031 59,440 68,591
(Ed2h) AYEEnAed AT 6,800,000 +1710= 6,800,000
(eih) F3aan Ads 3,90091%809%230= 71,760,000
(i) w2471 YA 2,000,0009€1x14)= 2,000,000
(Ee2h) s8] Adz 510,000 #43-F+12¢9= 24,480,000
(j;\]a]ﬁ) Aurss AsEs A 3,829,00090+1709= 3,829,000
(eih) 7133 G0 150,0009+10€= 1,500,000
(Eo2h) SAA v A= 10,000,000 171 9= 10,000,000
(Foah) AgAdAASFADF 2,662,000 +1709= 2,662,000
(b)) tgAlEy L9295 [5,000,00090«170d= 5,000,000
FoAFEF Y 8,100/ 42,012| -33,912
AR E] B 0| 37,692 -37,692
ASNASY R 0| 37,692 -37,692
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oAb o 4k (e+9 )
kU 2
T ERE N bl W AEY HE7) 2 ()
# | % E £ | T
A A H] 4 8,100 4,320 3,780
A A H] BLE 2 8,100 4,320 3,780
(Ea2h) wAYd F2H] 75,0009 99 *12¥= 8,100,000
YA LT 2,687 916 1,771
AdAeF g 627 616 11
AGAEF 59 627 616 11
;]%0;22 A A Sels 52,2509+2x6¥= 627,000
o1 60 50 10
o] 2+$] 60 50 10
(L) dF o)A 30,00090%23]= 60,000
ave gy LE5Es9 2,000 250 1,750
aurol YA S 2,000 250 1,750
(Eeah) gAdA5 wsa 1,000,000 2= 2,000,000
Adzol gy 999 4,800 -3,801
Adzeldas9 999 4,800/ -3,801
EAALAF 999 4,800 -3,801
(Eo2h) &AL A= 999,000 %13]= 999,000
Al <A 653,441 426,650 226,791
2 AEEALSGY AAFA <
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